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STRAIGHT LINES

Question Bank

1. Find the distance between the following

pairs of points. (3,4) , (2,1).

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_x1RYE4DWo56J


2. Find the distance between the following

pairs of points. (-1,0) , (5,3) .

Watch Video Solution

3. If the distance between the points (3,a) and

(6,1) is 5, find the value of a.

Watch Video Solution

https://dl.doubtnut.com/l/_x1RYE4DWo56J
https://dl.doubtnut.com/l/_7orWCGI1smk9
https://dl.doubtnut.com/l/_P4kG4T0ZaDkn


4. Find the coordinates of the point which

divides the line segment joining the points A

(4,6),B (-3,1) in the ratio 2:3 internally. 

Find also the coordinates of the point which

divides  in the same ratio externally.

Watch Video Solution

¯̄̄ ¯̄¯AB

5. Find the coordinates of the mid-point of the

following pairs of points .(-7,3), (8,-4) .

Watch Video Solution

https://dl.doubtnut.com/l/_zjAb9PFwuXkm
https://dl.doubtnut.com/l/_h0fivmCZAeNA


6. Find the coordinates of the mid-point of the

following pairs of points .(3/4,-2),(-5/2,1).

Watch Video Solution

7. Find the area of triangle whose vertices are

(1,2), (3,4),(1/2,1/4).

Watch Video Solution

https://dl.doubtnut.com/l/_h0fivmCZAeNA
https://dl.doubtnut.com/l/_WIbu9S1t7hZE
https://dl.doubtnut.com/l/_kFEtHfMdK66H


8. If the area of the triangle with vertices (0,0),

(1,0),(0,a) is 10 units, find the value of a.

Watch Video Solution

9. Find the value of a so that the points (1,4),

(2,7),(3,a) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_nQiQaa3LWdTg
https://dl.doubtnut.com/l/_0FTwd77ZIyzD


10. Find the slope of the lines whose

inclinations are given.  .

Watch Video Solution

30∘

11. Find the slope of the lines whose

inclinations are given. .

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_4eKmMZxONJh5
https://dl.doubtnut.com/l/_StyhSd9Dckyz


12. Find the slope of the lines whose

inclinations are given. .

Watch Video Solution

60∘

13. Find the slope of the lines whose

inclinations are given. .

Watch Video Solution

135∘

https://dl.doubtnut.com/l/_PFVgDNGu0U77
https://dl.doubtnut.com/l/_lfTbtfMEBPzU


14. Find the inclination of the lines whose

slopes are given below. .

Watch Video Solution

1

√3

15. Find the inclination of the lines whose

slopes are given below. 1.

Watch Video Solution

https://dl.doubtnut.com/l/_ic1h7o0jLjRQ
https://dl.doubtnut.com/l/_MZ5yiTHWzcHl


16. Find the inclination of the lines whose

slopes are given below. .

Watch Video Solution

√3

17. Find the inclination of the lines whose

slopes are given below. -1.

Watch Video Solution

https://dl.doubtnut.com/l/_4rJBVflrAdXa
https://dl.doubtnut.com/l/_ko61Nml2CVuu


18. Find the angles between the pair of lines

whose slopes are , ,1.

Watch Video Solution

1

√3

19. Find the angles between the pair of lines

whose slopes are , ,-1 .

Watch Video Solution

√3

https://dl.doubtnut.com/l/_30cGAP3iIU1n
https://dl.doubtnut.com/l/_i4CsaAWP3JMo


20. Show that the points (0,-1),(-2,3),(6,7) and

(8,3) are vertices of a rectangle.

Watch Video Solution

21. Show that the points (1,1),(-1,-1) and (

) are the vertices of an equilateral

triangle.

Watch Video Solution

−√3, √3

https://dl.doubtnut.com/l/_Vr4WzaVSov9a
https://dl.doubtnut.com/l/_xe2R22C2etPf


22. Find the coordinates of the point P(x,y)

which is equidistant from (0,0), (32,10) and

(42,0).

Watch Video Solution

23. If the points (x,y) are equidistant from the

points (a+b,b-a) and (a-b,a+b),prove that bx =

ay.

Watch Video Solution

https://dl.doubtnut.com/l/_DaXOqhyIM2Qk
https://dl.doubtnut.com/l/_8GZV2Nw9iPgV
https://dl.doubtnut.com/l/_DAls8PDECKBU


24. The coordinates of the vertices of a

triangle are  and 

Prove that the coordinates of its centroid are

 ,  .

Watch Video Solution

(α1, β1), (α2, β2) (α3, β3)

(α1 + α2 + α3) /(3) (β1 + β2 + β3) /(3)

25. Two vertices of a triangle are (0,-4) and

(6,0).If the medians meet at the point (2,0),

find the coordinates of the third vertex.

Watch Video Solution

https://dl.doubtnut.com/l/_DAls8PDECKBU
https://dl.doubtnut.com/l/_3XUtHvJMGiSs


26. If the point (0,4) divides line segment

joining (-4,10) and (2,1) internally, find the point

which divides it externally in these same ratio.

Watch Video Solution

27. Find the ratios in which the line segment

joining (-2,-3) and (5,4) is divided by the

coordinate axes and hence find the

coordinates of these points.

Watch Video Solution

https://dl.doubtnut.com/l/_j3lcXnDsDTqS
https://dl.doubtnut.com/l/_h3uoKbEjKUMu


28. In a triangle one of the vertices is at (2,5)

and the centroid of the triangle is at (-1,1). Find

the coordinates of the midpoint of the side

opposite to the given angular point.

Watch Video Solution

29. Find the coordinates of the vertices of a

triangle whose sides have mid points at (2,1),

(-1,3) and (-2,5).

Watch Video Solution

https://dl.doubtnut.com/l/_h3uoKbEjKUMu
https://dl.doubtnut.com/l/_sNNh95CaF21b
https://dl.doubtnut.com/l/_lPaSYhTZDao6


30. If the vertices of a triangle have their

coordinates given by rational numbers,prove

that the triangle cannot be equilateral.

Watch Video Solution

31. Prove that the area of any triangle is equal

to four times the area of the triangle formed

by joining the mid points of its sides.

Watch Video Solution

https://dl.doubtnut.com/l/_lPaSYhTZDao6
https://dl.doubtnut.com/l/_bWbRYgRKKnql
https://dl.doubtnut.com/l/_9YhZtBFGqyUu


32. Find the condition that the point (x,y) may

lie on the line joining (1,2) and (5,-3).

Watch Video Solution

33. Show that the three distinct points

 and  can never be

collinear.

Watch Video Solution

(a2, a)(b2, b) (c2, c)

https://dl.doubtnut.com/l/_9YhZtBFGqyUu
https://dl.doubtnut.com/l/_Hnjf4JDOnJUn
https://dl.doubtnut.com/l/_xLIirQVvRELm
https://dl.doubtnut.com/l/_t7l7RHzr1lrN


34. If A,B,C are points (-1,2),(3,1) and (-2,-3)

respectively, show that the points which divide

BC, CA, AB in the ratios (1:3), (4:3) and (-9,:4)

respectively are collinear.

Watch Video Solution

35. Prove analytically : The line segment

joining the midpoints of two sides of a

triangle is parallel to the third and half of its

length.

Watch Video Solution

https://dl.doubtnut.com/l/_t7l7RHzr1lrN
https://dl.doubtnut.com/l/_JmkQPRkOENY8


36. Prove analytically : The altitudes of a

triangle are concurrent.

Watch Video Solution

37. Prove analytically : The perpendicular

bisector of the sides of a triangle are

concurrent.

Watch Video Solution

https://dl.doubtnut.com/l/_JmkQPRkOENY8
https://dl.doubtnut.com/l/_zwo8KUrwWGRI
https://dl.doubtnut.com/l/_fdJLipXUGM4g
https://dl.doubtnut.com/l/_l0GPjLVhL2as


38. Prove analytically : An angle in a semicircle

is a right angle.

Watch Video Solution

39. Fill in the blanks in each of the following,

using the answers given against each of them

: 

The slope and x-intercept of the line 3x-y+ k = 0

are equal if k= _____ .

A. 0

https://dl.doubtnut.com/l/_l0GPjLVhL2as
https://dl.doubtnut.com/l/_dqbJ0QjVnjVB


B. 

C. 3

D. 

Answer: D

Watch Video Solution

−1

−9

40. Fill in the blanks in each of the following,

using the answers given against each of them

: 

https://dl.doubtnut.com/l/_dqbJ0QjVnjVB
https://dl.doubtnut.com/l/_0BxQuTRMb3hU


The lines 2x - 3y + 1 = 0 and 3x+ ky - 1 = 0 are

perpendicular to each other if k = _____ .

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

−2

−3

https://dl.doubtnut.com/l/_0BxQuTRMb3hU


41. Fill in the blanks in each of the following,

using the answers given against each of them

: 

The lines 3x + ky - 4 = 0 and k - 4y - 3x = 0 are

coincident if k = _____ .

A. 1

B. 

C. 4

D. 

Answer: C

−4

−1

https://dl.doubtnut.com/l/_uZZYHt7YpPj5


Watch Video Solution

42. Fill in the blanks in each of the following,

using the answers given against each of them

: 

The distance between the lines 3x - 1 = 0 and x

+ 3 = 0 is _____ units.

A. 4

B. 2

C. 
8

3

https://dl.doubtnut.com/l/_uZZYHt7YpPj5
https://dl.doubtnut.com/l/_9jFXsTqhg8U4


D. 

Answer: D

Watch Video Solution

10

3

43. Fill in the blanks in each of the following,

using the answers given against each of them

: 

The angle between the lines  and 

 is _____

A. 

x = 2

x − √3y + 1 = 0

30∘

https://dl.doubtnut.com/l/_9jFXsTqhg8U4
https://dl.doubtnut.com/l/_ZcFYydwmIIix


B. 

C. 

D. 

Answer: B

Watch Video Solution

60∘

120∘

150∘

44. State with reasons which of following are

true or false : 

The equation x= k represents a line parallel to

x - axis for all real values of k.

https://dl.doubtnut.com/l/_ZcFYydwmIIix
https://dl.doubtnut.com/l/_qOdi9wIrv5Wx


Watch Video Solution

45. State with reasons which of following are

true or false : 

The line, y + x + 1 = 0 makes an angle  with

y- axis.

Watch Video Solution

45∘

46. State with reasons which of following are

true or false : 

https://dl.doubtnut.com/l/_qOdi9wIrv5Wx
https://dl.doubtnut.com/l/_u02FgqnDvh84
https://dl.doubtnut.com/l/_4YJXYQKlVCNE


The lines represented by  and

3x + 2y - k = 0 are perpendicular to each other

for positive values of k only.

Watch Video Solution

2x − 3y + 1 = 0

47. State with reasons which of following are

true or false : 

The lines represented by px + 2y - 1 = 0 and 3x

+ py + 1 = 0 are not coincident for any value of

'p' .

Watch Video Solution

https://dl.doubtnut.com/l/_4YJXYQKlVCNE
https://dl.doubtnut.com/l/_uDabA941k3Js


48. State with reasons which of following are

true or false : 

The equation of the line whose x - and y -

intercepts are 1 and -1 respectively is x - y + 1 =

0.

Watch Video Solution

49. State with reasons which of following are

true or false : 

The point (-1, 2) lines on the line 2x +3y - 4 = 0.

https://dl.doubtnut.com/l/_uDabA941k3Js
https://dl.doubtnut.com/l/_cUTC3oXiJVmO
https://dl.doubtnut.com/l/_UkFurSOXsiSO


Watch Video Solution

50. State with reasons which of following are

true or false : 

The equation of line through (1, 1) and (-2, -2) is

y = - 2x.

Watch Video Solution

51. State with reasons which of following are

true or false : 

https://dl.doubtnut.com/l/_UkFurSOXsiSO
https://dl.doubtnut.com/l/_SR4pgDRefMaL
https://dl.doubtnut.com/l/_IH7qQ7SV9aqR


The line through (1, 2) perpendicular to y = x is

y + x - 2 = 0.

Watch Video Solution

52. State with reasons which of following are

true or false : 

The lines  and y/a - x/b = 1 are

intersecting but not perpendicular to each

other.

Watch Video Solution

+ = 1
x

a

y

b

https://dl.doubtnut.com/l/_IH7qQ7SV9aqR
https://dl.doubtnut.com/l/_DCE36TeTgv4t
https://dl.doubtnut.com/l/_T86iivp789uf


53. State with reasons which of following are

true or false : 

The points (1, 2) and (3, -2) are on the opposite

sides of the line 2x + y = 1.

Watch Video Solution

54. A point P(x,y) is such that its distance from

the fixed point  is equal to its distance

from y-axis. Prove that the equation of the

locus is given by, .

Watch Video Solution

(α, 0)

y2 = α(2x − α)

https://dl.doubtnut.com/l/_T86iivp789uf
https://dl.doubtnut.com/l/_o274z7TseVD0


55. Find the locus of the point P(x,y) such that

the area of the triangle PAB is 5, where A is the

point (1,-1) and B is the point (5,2).

Watch Video Solution

56. A point is such that its distance from the

point (3,0) is twice its distance from the point

(-3,0). Find the equation of the locus.

Watch Video Solution

https://dl.doubtnut.com/l/_o274z7TseVD0
https://dl.doubtnut.com/l/_nFTWv1u2L0AT
https://dl.doubtnut.com/l/_JcDVbSusrxEi


57. Obtain the equation of straight lines :

Passing through (1,-1) and making an angle

.

Watch Video Solution

150∘

58. Obtain the equation of straight lines :

Passing through (-1,2) and making intercept 2

on the y-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_JcDVbSusrxEi
https://dl.doubtnut.com/l/_RiGnZrR5JD9O
https://dl.doubtnut.com/l/_X2JHxnljlgvo


59. Obtain the equation of straight lines :

Passing through the points (2,3) and (-4,1) .

Watch Video Solution

60. Obtain the equation of straight lines :

Passing through (-2,3) and sum of whose

intercepts in 2.

Watch Video Solution

https://dl.doubtnut.com/l/_X2JHxnljlgvo
https://dl.doubtnut.com/l/_AHMOQCaNMlPB
https://dl.doubtnut.com/l/_n7Kv2myLFlNz
https://dl.doubtnut.com/l/_5VYYTZ8q3xSY


61. Obtain the equation of straight lines :

Whose perpendicular distance from origin is 2

such that the perpendicular from origin has

indication 150.

Watch Video Solution

62. Obtain the equation of straight lines :

Bisecting the line segment joining (3,-4) and

(1,2) at right angles.

Watch Video Solution

https://dl.doubtnut.com/l/_5VYYTZ8q3xSY
https://dl.doubtnut.com/l/_w87sckRM2pLu
https://dl.doubtnut.com/l/_6i1uHVX5sOHN


63. Obtain the equation of straight lines :

Bisecting the line segment joining (a,0) and

(0,b) at right angles.

Watch Video Solution

64. Obtain the equation of straight lines :

Bisecting the line segment joining

 and (-a,b) ,  .

Watch Video Solution

(a, b), (a ′ , b ′ ) (a ′ , − b ′ )

https://dl.doubtnut.com/l/_6i1uHVX5sOHN
https://dl.doubtnut.com/l/_lHT8sq7BXXPS
https://dl.doubtnut.com/l/_OG2Xhet2s6nu


65. Obtain the equation of straight lines :

Passing through origin and the points of

trisection of the portion of the line 3x + y - 12 =

0 intercepted between the coordinate axes.

Watch Video Solution

66. Obtain the equation of straight lines :

Passing through (-4,2) and parallel to the line

4x-3y = 10

Watch Video Solution

https://dl.doubtnut.com/l/_OG2Xhet2s6nu
https://dl.doubtnut.com/l/_LBiIrFsV8vNL
https://dl.doubtnut.com/l/_NBrMtNrurvCy


67. Obtain the equation of straight lines :

Passing through the point 

and perpendicular to the straight line

.

Watch Video Solution

(a cos3 θ, a sin3 θ)

x sec θ + y cos ecθ = α

68. Obtain the equation of straight lines :

Which passes through the point (3,-4) and is

such that its portion between the axes is

divided at this point internally in the ratio 2:3 .

https://dl.doubtnut.com/l/_NBrMtNrurvCy
https://dl.doubtnut.com/l/_a4kP4XCSB00Y


Watch Video Solution

69. Obtain the equation of straight lines :

which passes through the point  and is

such that given point bisects its portion

between the co-ordinate axies.

Watch Video Solution

(α, β)

70. Find the equation of the line which is

parallel to the line 3x + 4y + 7 = 0 and is at a

distance 2 from it.

https://dl.doubtnut.com/l/_a4kP4XCSB00Y
https://dl.doubtnut.com/l/_uaVbN9SnEXcT
https://dl.doubtnut.com/l/_lpL9GjjFTHl2


Watch Video Solution

71. Find the equation of the line passing

through the intersection of 2x-y-1 = 0 and 3x-

4y+6 = 0 and parallel to the line x + y -2 = 0 .

Watch Video Solution

72. Find the equation of the line passing

through the point of intersection of lines x +

https://dl.doubtnut.com/l/_lpL9GjjFTHl2
https://dl.doubtnut.com/l/_oLCgCI3rXep9
https://dl.doubtnut.com/l/_dRrgGAbjo4di


3y + 2 = 0 and x-2y-4 = 0 and perpendicular to

the line 2y + 5x - 9 = 0.

Watch Video Solution

73. Find the equation of the line passing

through the point of intersection of lines x +

3y - 1 = 0 and 3x-y+1 = 0 and the centroid of the

triangle whose vertices are the points (3,-1)

(1,3) and (2,4).

Watch Video Solution

https://dl.doubtnut.com/l/_dRrgGAbjo4di
https://dl.doubtnut.com/l/_EZn2PR2xqRX9
https://dl.doubtnut.com/l/_3zqd4pXPVSqT


74. If lx + my + 3 = 0 and 3x - 2y - 1 = 0

represent the same line,find the values of l and

m.

Watch Video Solution

75. Find the equation of sides of a triangle

whose vertices are at (1,2),(2,3) and (-3,-5).

Watch Video Solution

https://dl.doubtnut.com/l/_3zqd4pXPVSqT
https://dl.doubtnut.com/l/_a9HIyuuP9Cbt


76. Find the coordinate of the circumcentre

and incentre of the triangle formed by lines 3x

- y = 5 , x + 2y = 4 and 5x + 3y + 1 = 0.

Watch Video Solution

77. Find the equations of straight lines passing

through the point (3,-2) and making angle 

with the line 6x + 5y = 1.

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_JuV3LlzQVoZL
https://dl.doubtnut.com/l/_bWH25H7RODkY
https://dl.doubtnut.com/l/_PC0rwk9lPEYI


78. Two straight lines are drawn through the

point (3,4) inclined at an angle  to the line

x - y - 2 = 0. Find their equations and obtain

the area included by the above three lines.

Watch Video Solution

45∘

79. Show that the area of the triangle formed

by the line given by the equations 

`y = m_1x + c_1 , y = m_2x + c_2 and x = 0 is 1/2

(c_1-c_2)^2/[m_2-m_1]

Watch Video Solution

https://dl.doubtnut.com/l/_PC0rwk9lPEYI
https://dl.doubtnut.com/l/_gFdjvz2Dx8rA


80. Find the equation of lines passing through

origin and perpendicular to the lines 3x + 2y -

5 = 0 and 4x + 3y = 7. Obtain the co-ordinate of

the points where these perpendiculars meet

the given lines . Prove that the equation of line

passing through these two points is 23x + 11y -

35 = 0.

Watch Video Solution

https://dl.doubtnut.com/l/_gFdjvz2Dx8rA
https://dl.doubtnut.com/l/_kSx5nOHZc4wT


81. Find the length of perpendicular drawn

from the point (-3,-4) to the straight line

whose equation is 12x - 5y + 65 = 0.

Watch Video Solution

82. Find the perpendicular distances of the

point (2,1) from the parallel lines 3x-4y+4 = 0

and 4y-3x+5 = 0. Hence find the distance

between them.

Watch Video Solution

https://dl.doubtnut.com/l/_6nCdkZFXsfSL
https://dl.doubtnut.com/l/_5CISYRpRXLLd


83. Find the distance of the point (3,2) from

the line x + 3y -1 = 0 measured parallel to the

line 3x - 4y + 1 = 0

Watch Video Solution

84. Find the distance of the point (-1,-2) from

the line x + 3y-7 = 0 measured parallel to the

line 3x + 2y - 5 = 0.

Watch Video Solution

https://dl.doubtnut.com/l/_5CISYRpRXLLd
https://dl.doubtnut.com/l/_n6sOwEHXdOoi
https://dl.doubtnut.com/l/_uuDYeSb2D4Eq


85. Find the distance of the line passing

through the points  and 

 from the origin.

Watch Video Solution

(a cos α, a sin α)

(a cos β, a sin β)

86. Find the length of perpendiculars drawn

from the origin on the side of the triangle

whose vertices are A(2,1),B(3,2) and C(-1,-1).

Watch Video Solution

https://dl.doubtnut.com/l/_VYkxbWw8STiS
https://dl.doubtnut.com/l/_DsgPh1QWYZnh
https://dl.doubtnut.com/l/_Wumpz4cn9U5V


87. Show that the product of perpendicular

from the points  upon the

straight line  .

Watch Video Solution

( ± √a2 − b2, 0)

cos θ + sin θ = 1isb2x

a

y

b

88. Show that the lengths of perpendiculars

drawn from any point of the straight line 2x +

11y -5 = 0 on the lines 24x + 7y - 20 = 0 and 4x -

3y -2 = 0 are equal to each other.

Watch Video Solution

https://dl.doubtnut.com/l/_Wumpz4cn9U5V
https://dl.doubtnut.com/l/_Yh9gMdjmdPWT


89. If p and  are the length of perpendicular

drawn from the origin upon the lines 

 and 


 


Prove that , 

Watch Video Solution

p ′

x sec α + y cos ecα = 0

x cos α − y sin α − a cos 2α = 0

4p2 + p '2 = a2

90. Obtain the equation of the lines passing

through the foot of the perpendicular from

(h,k) on the line Ax + By + C = 0 and bisecting

https://dl.doubtnut.com/l/_JRtDWoqTzOTb
https://dl.doubtnut.com/l/_w7tDDsJVd6jl


the angle between the perpendicular and the

given line.

Watch Video Solution

91. Find the direction in which a straight line

must be drawn through the point (1,2) such

that its point of intersection with the line x + y

-4 = 0 is at a distant  from this point.

Watch Video Solution

√6
1

3

https://dl.doubtnut.com/l/_w7tDDsJVd6jl
https://dl.doubtnut.com/l/_0qZtYjofEETP


92. A triangle has its vertices at P(1,-1),Q(3,4)

and R(2,5). Find the equation of altitudes

through P and Q and obtain the coordinate of

their point of intersection.(This point is called

ortho-centre of the triangle.)

Watch Video Solution

93. Show that the line passing through (6,0)

and (-2,-4) is concurrent with the lines.

2x-3y-11 = 0 and 3x-4y = 16.

https://dl.doubtnut.com/l/_uQXFoFlmTltW
https://dl.doubtnut.com/l/_CxmyNxSazyS8


Watch Video Solution

94. Show that the lines lx + my + n = 0 , mx +

ny + l = 0 and nx + ly + m = 0 are concurrent, if

l + m + n = 0.

Watch Video Solution

95. Obtain the equation of the bisector of the

acute angle between the pair of lines. X + 2y =

1 , 2x + y + 3 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_CxmyNxSazyS8
https://dl.doubtnut.com/l/_fqVaTxpsuyh3
https://dl.doubtnut.com/l/_AnfO9O2cR7Qz


96. Obtain the equation of the bisector of the

acute angle between the pair of lines. 3x - 4y =

5 , 12y - 5x = 2.

Watch Video Solution

97. Find the area of the region bounded by the

line , x-axis and the ordinates 

 and .

Watch Video Solution

y = 3x + 2

x = − 1 x = 1

https://dl.doubtnut.com/l/_AnfO9O2cR7Qz
https://dl.doubtnut.com/l/_4tVUVrsTwhWQ
https://dl.doubtnut.com/l/_RD3qGBw28wPo


98. Find the coordinate of the circumcentre

and incentre of the triangle formed by lines 3x

- y = 5 , x + 2y = 4 and 5x + 3y + 1 = 0.

Watch Video Solution

99. Find the equation of the lines represented

by the following equation 

Watch Video Solution

4x2 − y2 = 0

https://dl.doubtnut.com/l/_RD3qGBw28wPo
https://dl.doubtnut.com/l/_qmqSjkNqClie
https://dl.doubtnut.com/l/_nHRmw978n7lX
https://dl.doubtnut.com/l/_0YIWo8oA1Bv0


100. Find the equation of the lines

represented by the following equation

Watch Video Solution

2x2 − 5xy − 3y2 = 0

101. Find the equation of the lines represented

by the following equation

Watch Video Solution

x2 + 2xy sec θ + y2 = 0

https://dl.doubtnut.com/l/_0YIWo8oA1Bv0
https://dl.doubtnut.com/l/_ToF7veIw8B0K


102. Find the equation of the lines represented

by the following equation 

Watch Video Solution

3x2 + 4xy = 0

103. From the equations which represents the

following Pair of lines. ,

y = mx , y = nx

Watch Video Solution

https://dl.doubtnut.com/l/_AOf4eN0GqKOW
https://dl.doubtnut.com/l/_p6X6KfBfVT59


104. From the equations which represents the

following Pair of lines 

y - 3x = 0 , y + 3x = 0

Watch Video Solution

105. From the equations which represents the

following Pair of lines 

2x - 3y + 1 = 0 , 2x + 3y + 1 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_H44RZqXugHHI
https://dl.doubtnut.com/l/_RlNsL3FfHocn
https://dl.doubtnut.com/l/_mK4Kr9TDidaZ


106. From the equations which represents the

following Pair of lines 

x = y , x + 2y + 5 = 0

Watch Video Solution

107. Which of the following equations

represent pair of lines ? 

Watch Video Solution

2x2 − 6y2 + 3x + y + 1 = 0

https://dl.doubtnut.com/l/_mK4Kr9TDidaZ
https://dl.doubtnut.com/l/_Q1np598yFEiT
https://dl.doubtnut.com/l/_fxNDId0eaPCh


108. Which of the following equations

represent pair of lines ? 

Watch Video Solution

10x2 − xy − 6y2 − x + 5y − 1 = 0

109. Which of the following equations

represent pair of lines ? 

xy + x + y + 1 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_fxNDId0eaPCh
https://dl.doubtnut.com/l/_TMOWYsO4aUd5


110. For what value of  do the following

equations represent pair of straight lines? 

Watch Video Solution

λ

λx2 + 5xy − 2y2 − 8x + 5y − λ = 0

111. For what value of  do the following

equations represent pair of straight lines? 

Watch Video Solution

λ

x2 − 4xy − y2 + 6x + 8y + λ = 0

https://dl.doubtnut.com/l/_ebLhXbahz2MT
https://dl.doubtnut.com/l/_xiIPRXw1qyGQ
https://dl.doubtnut.com/l/_Dxa2sGlqRdUL


112. Obtain the value of  for which the pair of

straight lines represented by

 are perpendicular to

each other.

Watch Video Solution

λ

3x2 − 8xy + λy2 = 0

113. Prove that a pair of lines through origin

perpendicular to the pair of lines represented

by 

 is given by 

.

px2 + 2qxy + ry2 = 0

rx2 − 2qxy + py2 = 0

https://dl.doubtnut.com/l/_Dxa2sGlqRdUL
https://dl.doubtnut.com/l/_95VSlwrwrj9N


Watch Video Solution

114. Obtain the condition that a line of the pair

of lines 

 = 0 ,


Coincides with to a line of the pair of lines

 = 0

Watch Video Solution

ax2 + 2hxy + by2

px2 + 2qxy + ry2

https://dl.doubtnut.com/l/_95VSlwrwrj9N
https://dl.doubtnut.com/l/_fhwbhnMCPcmk


115. Obtain the condition that a line of the pair

of lines 

 = 0 ,


Coincides with to a line of the pair of lines

 = 0

Watch Video Solution

ax2 + 2hxy + by2

px2 + 2qxy + ry2

116. Find the acute angle between the pair of

lines given by : 

x2 + 2xy − 4y2 = 0

https://dl.doubtnut.com/l/_7yWZx6Gwub14
https://dl.doubtnut.com/l/_dEwhRFqXixh0


Watch Video Solution

117. Find the acute angle between the pair of

lines given by : 

Watch Video Solution

2x2 + xy − 3y2 + 3x + 2y + 1 = 0

118. Find the acute angle between the pair of

lines given by : 

Watch Video Solution

x2 + xy − 6y2 − x − 8y − 2 = 0

https://dl.doubtnut.com/l/_dEwhRFqXixh0
https://dl.doubtnut.com/l/_xHxoWB29cQRQ
https://dl.doubtnut.com/l/_5KRwVLwRKe9Z


119. Write down the equation of pair of

bisectors of the following pair of lines : 

= 0

Watch Video Solution

x2 − y2

120. Write down the equation of pair of

bisectors of the following pair of lines :

Watch Video Solution

4x2 − xy − 3y2 = 0

https://dl.doubtnut.com/l/_5KRwVLwRKe9Z
https://dl.doubtnut.com/l/_VM8OzDU96SSZ
https://dl.doubtnut.com/l/_W3MdKItOhny0


121. Write down the equation of pair of

bisectors of the following pair of lines :

Watch Video Solution

x2 cos θ + 2xy − y2 sin θ = 0

122. Write down the equation of pair of

bisectors of the following pair of lines :

Watch Video Solution

x2 − 2xy tan θ − y2 = 0

https://dl.doubtnut.com/l/_W3MdKItOhny0
https://dl.doubtnut.com/l/_VJLMSWAuluct
https://dl.doubtnut.com/l/_vVrCi0UOCLWt


123. If the pair of lines represented by

 and 

be such that each pair bisects the angle

between the other pair, then prove that

.

Watch Video Solution

x2 − 2pxy − y2 = 0 x2 − 2qxy − y2 = 0

pq = − 1

124. Transform the equaton : 

 
x2 + y2 − 2x − 4y + 1 = 0

https://dl.doubtnut.com/l/_4FH25ZDdcZSH
https://dl.doubtnut.com/l/_zXFRgU45Bd4d


by shifting the origin to (1,2) and keeping the

axes parallel.

Watch Video Solution

125. Transform the equation :

when referred to parallel axes through (2,1).

Watch Video Solution

2x2 + 3y2 + 4xy − 12x − 14y + 20 = 0

https://dl.doubtnut.com/l/_zXFRgU45Bd4d
https://dl.doubtnut.com/l/_dfsA0iC0FB8f


126. Find the measure of rotation so that the

equation  when

transformed does not contain xy- term.

Watch Video Solution

x2 − xy + y2 = 5

127. What does the equation x + 2y - 10 = 0

become when the origin is changed to (4,3)?

Watch Video Solution

https://dl.doubtnut.com/l/_dzshHdRvmaAg
https://dl.doubtnut.com/l/_NBQchkIpzR37

